7  Given that y = 0 when x = 1, solve the differential equation

dy 5
xy—=y*+4,
e =3

. . . ~ 2 . ~
obtaining an expression for y~ in terms of x.
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It is given that y = 2 when x = 0. Solve the differential equation and hence find the value of y when
(8]

x = 0.5, giving your answer correct to 2 decimal places.
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14 The variables x and y are related by the differential equation

dy

x—=—=1-)%
X == )

When x = 2, y = 0. Solve the differential equation, obtaining an expression for y in terms of x.  [8]
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15 The variables x and y are related by the differential equation
> dy
X~ +4)— = 6xy.
( ) ix ]
It is given that y = 32 when x = 0. Find an expression for y in terms of x. [6]
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The variables x and y are related by the differential equation

6ye™

Given that y = 36 when x = 0, find an expression for y in terms of x. [6]
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The variables x and 6 satisfy the differential equation

) d.
ZC()S‘Qd—g = J2x+1),

and x = 0 when 0 = }‘n. Solve the differential equation and obtain an expression for x in terms of 6.
(7]
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